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Explain whether Jonah is correct:
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Area of a triangle @

Discover

Iwonder whot the area
of the triangls

VaN

o @) Work out the area of Andy's triangle.

b) What is the area of Jamie's triangle?

a) Method |

Iestimated the area by
counting the squares.

2+4x2

Ix343x2+3

=341f414%
= 6 squares or 6 cm?
Method 2

Change the triangle to a rectangle by
moving some part squares.

The area of the triongle is the same as the
area of the rectangle: 6 x | = 6 cm?.

The area of Andy's triangle is 6 cm?.

b) Change Jamie's triangle to a rectangle by splitting it exactly in half
and moving one triangle to the other side.

6cm 3cm

Area of the rectangle = 4 cm x 3 cm = 12 cm?.

The area of Jamie’s triangle is 12 cm?.
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Think together

o Estimate the areas of the triangles below.

a) b)

e Find the areas of the following triangles by making rectangles.

a) b)
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4. Counting the squares fo help you, fick the friangle below which has a different area
from the others.

¢

5. Count the squares fo find the area of fiangle A. Draw two different friangles with the
same area.

v oo

6. Jonah says,

écm

If1 were fo make a right-angled

friangle with half the area of this

rectangle, the area would have six
squares, so would be cm?.

Using a drawing of a friangle fo support your answer, explain whether Jonah is comect.





